const of Road From P.W.D Road Ragho Pur Mushari AS. Amount AJ: + 56,89,924 = 00 CHOWK To Koriyani Dakshin Tola. 134 MEASUREMENT BOOK 1129 Smt. RENU KUMARI Manicacki 20 (W) D OC Darbhanga - 3 UNDER MMGSY(S.C) SUB-DIVISION DIVISION

	Executive Engineer O Darshanga - 2
Exe R. W. Da	XLV - Form No. 134 Cutive Engineer D. (W.) Division arbhanga - 2 C. k.; SUB-DIVISION
Meas	urement Book
	No. 1129
Name of Office	er

IstonAlcBlef.
Name of Work-
Situation of Work- Agency by which work is executed- Date of Measurement- No. and date of agreement (These four lines should be repeated at the commencement of the measurement relating to each work)
Particulars Details of actual measurement Contents Of area
Name of Nork confr. with montre.
Mushari chnok do Koryyour
Name of Agency -Sont. Renukumari
Agmit No 69/38/2021-22
Asm. Value => 5689924-00
Date of Stort - 03.3.2022.
Situation of work- Improcess.
workdone.
Benchmark - JEID
ino.
(2) confm. of Rof. pillons buries
(3) clear 58 Goube 30 Pol. Con-
10 ×30 m × 3. 50 m (N)= 1050.002
10 × 30 M × 3. 50 M (n) = 525 w)
2626.0pt Continuation = 0.263 Hel.
Williams / Sing.

4 2	1 on Ale BILL
Sch. XLV-F	2 Form No. 134
Particulars	Datella et a tanta de programment Contents
(4) conf	n. of embankment with
mate	-fromboorow hist -
Charage (M)	(M2) (M2) (M) (M3)
0.00	1.440
50	1.765 1602 80 80.10
100	1.58 5 1.605 50 83:05
150	2.025 1.805 80 90.25
200	3.100 2.562 50 128.10
NED	2.50 2.82h RO 141.26
300	3/00 2/826 50 141.26
3500	2.500 2825 20 141.25
400	3.100 2.825 50 141.25
480	2.550 2.825 50 141.25
200	3.100 2.825 50 141.25
550	2.780 2.940 00 147.00
600	2.410 2.595 50 129.35
650	3.380 2.895 50 144.05
700	3.500 3.44 80 1720
	\$ 1823·2019
	STREET WAS SON TOWN
	1 teaplup to 100 Mi
3	20% of 1823.2007 \$1276.24h
(ii) fram	had up to loom!
7	30% cf 1823-2003 546.960
(5) Pas.	Story of typical morasy
1 1 1	comploy signboard -
ale Xello	240.5.
M	Continuation
Gun	5.3.22
	00

3
Sch. XLV-Form No. 134
Particulars Details of actual measurement Contents of area
B confn. of G.S. B. with well _
gradumate growt
B.T. hastion
5x30M2410 FM20-2011=121-FOM
- 200 king p do 200 = 121. 201
50 Som x4 of map vor Fire
=> 486.1019
Eluncia 3, 22
0.8
Abstractoreos.
[287 cm A(C bit)]
(1) set fout of ref. 2 woney
Bench monk - 95.12
aAymode b-01017.178=120.
@414-42f = 4114-0
(1/2) conity of Regional los
burgers - dell
047140lep-01017-MB=340-5
@1902-65/-= 5708-0
3/2) clear of Gould copped:
Pour - dore
Ag. viale b-01+17-018=0.263Hct.
(2970-33/Het=1393/-
Carried Marie 1
₹ 23753-0
Continuation Cro.
AND THE RESIDENCE OF THE PARTY

Scanned By Camera Scanner

Particulars	Details No.	of actua	l measu	rement D.	Contents of area
	1101		0.	8, F-	22262-10
Ty con	Amid	-pont	haut	en mi	-27.0
within	nates	hom	1000	W. Do	
bola	- July	V		00 77.	
ed-und-		Man	-	46.96	5
847 Wide	0-02	911	カニカ	21/03	101119
BA.	Δ	100	170-	56/17S	104111=0
12)00	usm.	1	1 and		
with	mater	-	born		
Dies.		1-10	2101		9
84in,	10 - 0	१ भीनत	NBS	2262	DESCRIPTION OF THE PARTY OF THE
ATT.	1	(-	100	£19689B
(0/7)c	onst	1.00	30	with	
1000	1130	adeo	mate	900	1.
atrino	A 11/20 100	0300	1000 (1000)	1000	3
		0	3136	63/m2	1524402
(7/16) P.	028	nip	ofty	bicent	
Tor	16-54	infor	make	say.	Lucia L
160	Moar	D'-		- NE V	18/12
A ()	4 4	200	98=	2 Mais	1111
9/1		0	1679-	90/-=	19360-0
MARKE			1 - 14	0.	no DOES
	1		Toda		1868532
Adolas	1012	1000	pulog	oxf.	224224=
1210ah	earl a	1/3	11 -		19992-
Adal Seis	niora	se Fee	03	29/0=-	24/04-0
	To Service	9	+104	443	2135545-0

Scanned By Camera Scanner

5 Sch. XLV-Form No. 134
Particulars Details of actual measurement Contents No. L. B. D. of area
B.f. => 2135545=
Less 11-89/2 helowarfungenite 1253916 =~
Total value of sorted ones 1881629-0
Total Valley Control 15 18010- 1-0
Mun is a
09.3.26 month
09/3/22
A CAS A S STATE OF ST
STEP OF THE PERSON
material state muts -
(i) Rome Age 33 Dono 173
(ii) Sering mate > 140 mg
(in) coase en = 210m pg
(iv 5 Win 1814 2) 1823-2019
Men i 3.22
09.3.
Continuation

Scanned By Camera Scanner